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General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.

(iii)

Part B has two options — Option — I Analysis of Financial Statements and Option — I
Computerized Accounting.

(iv) Attempt only one option of Part B.
(v) All parts of a question should be attempted at one place.
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67/1/1

IS - F
PART - A

(AT GHT qT St % e araie)

(Accounting for Partnership Firms and Companies)

T TR ®F | 3Afusaq fhad TERR & d%d ¢ 2 39 Au@as &1 9 Jasy Sad
HERR & & ARIHdH WERRI % (T e 6 /& € |

What is the maximum number of partners that a partnership firm can have ? Name the

Act that provides for the maximum number of partners in a partnership firm.

%, T AT UH G H AEER 4 q97 3 ;2 : | % S § oy Sied o | 38 o & 1/8 9T
% To1T & 1 Ueh A1 WIEER S0 58 SHT 1/16 9T @ & &1 1/16 907 7§ U fohan |
%, @, T qdT T & 7 AN ST S TTUET BT |

A, B and C were partners in a firm sharing profits in the ratio of 3:2:1. They admitted D
as a new partner for 1/8" share in the profits, which he acquired 1/16™ from B and 1/16™

from C.

Calculate the new profit sharing ratio of A, B, C and D.

TEER & faueT q9r OEER BH % [gueT o WE e R % SN O 3
T |

Distinguish between ‘Dissolution of Partnership’ and ‘Dissolution of Partnership Firm’

on the basis of ‘Economic Relationship’.

OIS IME BT T o (AT AT AT, 2013 & WEEH 6l Sooid Hifg |

State the provisions of the Companies Act, 2013 for the creation of ‘Debenture

Redemption Reserve’.



5. 1-1-2016 1 FEAT e §R1 FAifaa fovd T 1,00,000 FHAT 3791 WX T 3 Ufd 3797 S v
AT ART T &1 T | 500 M % UH GR HA 5 TIH AT AT 61 A Fal fomar |
1000 3797 % Ueh SRS 3T = WIH AT o Q1 3 5 Ufed 3797 i @RI FAT AT I
TRT T ST off Y Tz |

FHIT ! e H T8 AT @Al qA1 g IredT @ial Gierd g0 W SR 9§ qraf-ed
3T ST Tidte HiT | 1

On 1-1-2016 the first call of ¥ 3 per share became due on 1,00,000 equity shares issued
by Kamini Ltd. Karan a holder of 500 shares did not pay the first call money. Arjun a

shareholder holding 1000 shares paid the second and final call of I 5 per share along
with the first call.

Pass the necessary journal entry for the amount received by opening ‘Calls-in-
arrears’ and ‘Calls-in-advance’ account in the books of the company.

6.  TTET AU G U H o GIEEK & qAT 3 : 2 % S H o dted & | 31-3-2015 T gHIA
TC a9 | TR = ¥ 15,000 T 307 [HAT | 3Tk R0 I A T 300 7 |
I A gU fob WIRIRRT <l ISt T 2, 37T O &1t o o [T STesdes ISt
gfafte T | 1
Nusrat and Sonu were partners in a firm sharing profits in the ratio of 3:2. During the

year ended 31-3-2015 Nusrat had withdrawn ¥ 15,000. Interest on her drawings
amounted to ¥ 300.

Pass necessary journal entry for charging interest on drawings assuming that the
capitals of the partners were fixed.

7. 4-3-2016 I HAR. A 7 T 1,000 T&F & 365, 9% FOOH! & T FA | =
IRIETET § SROTOE o R & fold STeaedeh s Jiaredt i ;
(F) & FOAT BT T GEEET W HAT T qAqT T I 10% o A U foRAT S
T
(@) & BT B FET 6% & o 9T THAT T 99T ST I 5% o 3o oY fRar
AT | 3
KTR Ltd., issued 365, 9% Debentures of I 1,000 each on 4-3-2016. Pass necessary
journal entries for the issue of debentures in the following situations :
(a)  When debentures were issued at par redeemable at a premium of 10%.

(b)  When debentures were issued at 6% discount redeemable at 5% premium.

67/1/1 3 [P.T.O.



8. (i) T¥ WIERR % YA, (ii) Uk WISR T ThIIT WETT T (iii) Teh WIERR & e & Afarem
fopel Ul o Rerferdl ol ool SITSTT STa % 1 ST bl TUMT i Terdehel & Gehel ¢ |

State any three circumstances other than (i) admission of a new partner; (ii) retirement of
a partner and (ii1) death of a partner, when need for valuation of goodwill of a firm may
arise.

9. W fafee 4 ¥R fafes &t T 7,00,000 ®I FHdr @@ T 2,00,000 i ST F
ATEROT T 4,59,500 H {1 | T 8,500 FT AW HaR fAfqee & 9e7 | I 919 & qvad 37
ST 1 Tehd HTeh [hAT TAT I I T TAR foAtHes o 9eT W T 10 U & Fwar 3T 0
10% o 3tteems 9¥ faife seek fhar |

SIRIFT ST o TTT T feATHES b Geaehl § STavgeh ST WAttt iy |

Sandesh Ltd. took over the assets of ¥ 7,00,000 and liabilities of ¥ 2,00,000 from
Sanchar Ltd. for a purchase consideration of X 4,59,500. ¥ 8,500 were paid by accepting

a draft in favour of Sanchar Ltd. payable after three months and the balance was paid by
issue of equity shares of ¥ 10 each at a premium of 10% in favour of Sanchar Ltd.

Pass necessary journal entries for the above transactions in the books of
Sandesh Ltd.

10.  SToEsi ISR TS A & ddT SAGTE & Aol e U &=t o fowrd § g
% foir tag fefds 3 ==t W U UeR wie o # U fRer | eR uetd e W T
FEAT 7 ¥ 10 F&® & 7,50,000 FHAT 3T B 50% W AT W HHT HA F A0
fopam | Tt STeIeT e7eRe W S o 1 20,00,000 37T % feTT 2Meg U g 1 50,000 ST
% foTT STERAT 1 38 X fGaT a7 F1 919 STEEH i SIS STER U 31T H1 STeeA T
feam |

ST T & T T o q&deht § 3Maeash AsHMET Ufafted ST qar ol

fereel J1 odT ol J&T ShITT T5Tve HoT TR ST =t & |

To provide employment to the youth and to develop the Naxal affected backward areas
of Chattisgarh. X Ltd. decided to set-up a power plant. For raising funds the company
decided to issue 7,50,000 equity shares of ¥ 10 each at a premium of 50%. The whole
amount was payable on application. Applications for 20,00,000 shares were received.
Applications for 50,000 shares were rejected and shares were allotted to the remaining
applicants on pro-rata basis.

Pass necessary journal entries for the above transactions in the books of the
company and identify any two values which X Ltd. wants to propagate.

67/1/1 4



11. O G Y, UH ®F & WERR & 97 5 : 3 % 3T H o §ied o | 1-4-2014 H I AN
% 1/8 9T % ToTT 31X, T T A1 WERR S==T 721 38 T 75,000 & o & TR &F T |
TqAT 9, T T AT STUTT Ugel ST &I TR 3R, Sl TR % HROT g8 ot ot &t &t o
3:2 % U § S8 H W THd gC | 31-3-2015 Ff TANT gC a9 H ®H H AN
% 4,00,000 =1 |

31 W€, 2015 & A g 99 % foIT Of, 9, q€AT AR, H oIS i @
TR HITT | 4

P and Q were partners in a firm sharing profits in the ratio of 5:3. On 1-4-2014 they
admitted R as a new partner for 1/8" share in the profits with a guaranteed profit of
% 75,000. The new profit sharing ratio between P and Q will remain the same but they
agreed to bear any deficiency on account of guarantee to R in the ratio 3:2. The profit of

the firm for the year ended 31-3-2015 was ¥ 4,00,000.

Prepare Profit and Loss Appropriation Account of P, Q and R for the year ended
31-3-2015.

12. o, foemer oor ave Uk H & TRIRR 9 q41 2 : 2 ¢ 1 % 3FUId | o dfed & | & 310t
TETh Ui 99 31 O B a5 B & | 31-12-2015 BT AT BT g & T | 3G fatr
3T% YStt @i | ¥ 3,80,000 T STHT IS o7 qAT ®H i @A H Joais- 3 1,20,000 fowam
AT | AR @ | 350,000 T A 99 o1 | G & a9 § oel & o i 0T fuser o
T o ST T & SR U ST | et ot a6t 1 3| o € 75,000 o |

A & e T EH Sl qART H Tevge AT Hettedt i | 4

Vikas, Vishal and Vaibhav were partners in a firm sharing profits in the ratio of 2:2:1.
The firm closes its books on 31* March every year. On 31-12-2015 Vaibhav died. On
that date his Capital account showed a credit balance of ¥ 3,80,000 and Goodwill of the
firm was valued at ¥ 1,20,000. There was a debit balance of ¥ 50,000 in the profit and
loss account. Vaibhav’s share of profit in the year of his death was to be calculated on
the basis of the average profit of last five years. The average profit of last five years was
% 75,000.

Pass necessary journal entries in the books of the firm on Vaibhav’s death.
67/1/1 5 [P.T.O.



13. UGSl @7 U9, U BH & TERR o q97 2 : 3 % U H o ded & | 28-2-2016 I FH w0
foae & T | gt (e o SAfReRT) TIT JeT SAAIST i agelt @I W RHIRd i
& T ST 0 T 3F STt &

(%)

@

Q)

)

% 1,40,000 % TS TSR 7 T 1,80,000 TR editehd 5T T2 9o i & o aen w
% 40,000 T T X AT |

¥ 30,000 % Th T TR = T 28,000 ToF Fl T W 379+ I& & YuT THuer |
R B |

% 70,000 % TS AEY THER = 319 F& & U7 FUer &g T 30,000 7 q@T T 45,000
JAh Hod & e WER 6T |

foraes W T 4,000 ol & &8 |

g T §T foF T PTaM <% T fRT T, S oAl & folT ®Y St qEdeh |

YA ST U T il |

L and M were partners in a firm sharing profits in the ratio of 2:3. On 28-2-2016 the
firm was dissolved. After transferring assets (other than cash) and outsiders’ liabilities to
realization account you are given the following information :

(a)
(b)
(©

(d)

A creditor for ¥ 1,40,000 accepted building valued at ¥ 1,80,000 and paid to the
firm ¥ 40,000.

A second creditor for I 30,000 accepted machinery valued at ¥ 28,000 in full
settlement of his claim.

A third creditor amounting to I 70,000 accepted ¥ 30,000 in cash and investments
of the book value of ¥ 45,000 in full settlement of his claim.

Loss on dissolution was ¥ 4,000.
Pass necessary journal entries for the above transactions in the books of the firm

assuming that all payments were made by cheque.

14, 3Teh, S @7 == Ueh ®H o WISRR & q21 3 : 2 : 1 & 3Fud § o dfed & | 31-3-2015

i IR Ty foreroT 7 Wb & ot -
31-3-2015 T (9T, W AT == &1 feafa faawor
® ®

GREALE 1,00,000 | 9/ 1,00,000
37 foet 40,000 | o 1,00,000
H o 60,000 | e 2,00,000
L GilE @ 80,000
3w 2,00,000 TR 60,000
o 1,00,000 EED 10,000

ShE| 50,000 | 3,50,000
5,50,000 5,50,000

6
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1 30, 2015 9 3790, HH T&7 AT = WiosT § o sSe-s{ey s o1 (o forar | s9en

foTw =g T gom 1

() @ @A H geEs 3 3,00,000 A S

(i) oM N g T 1,60,000 T AT S T&1 999 W 6% Tedgd aar S |

(iii) ¥ 12,000 % TSR IMET WK &l BT 3T: ¢ STafeirad X a1 ST ey |

TR W, WIEIRRT % Yl @I ae Jiied %H ol fefd foeror 4ar shifse |

Ashok, Bhim and Chetan were partners in a firm sharing profits in the ratio of 3:2:1.

Their Balance Sheet as on 31-3-2015 was as follows :

Balance Sheet of Ashok, Bhim and Chetan as on 31-3-2015

Amount Amount
Liabilities Assets
() ()
Creditors 1,00,000 | Land 1,00,000
Bills Payable 40,000 | Building 1,00,000
General Reserve 60,000 | Plant 2,00,000
Capitals : Stock 80,000
Ashok 2,00,000 Debtors 60,000
Bhim Bank 10,000
Chetan 3,50,000
5,50,000 5,50,000

Ashok, Bhim and Chetan decided to share the future profits equally, w.e.f. April 1,

2015. For this it was agreed that :

(i)  Goodwill of the firm be valued at ¥ 3,00,000.
(i) Land be revalued at ¥ 1,60,000 and building be depreciated by 6%.

(iii)) Creditors of ¥ 12,000 were not likely to be claimed and hence be writtenoff.

Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet of

the reconstituted firm.

67/1/1
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15.  1-4-2013 & S04, fAfies & T 100 9=% & 10,000, 9% FOT0F 36T & |

() 1-4-2014 S FEAT 7 Yot ISR F @ % 2,000 0T 66T T 101 T 019 i 3T
Y e a1 T q ¥E R TS |

(i)  1-4-2015 = HEA! 7 & R T 4,00,000 3 FHOTIAT HT IMEH T T AT |
(iii) 28-2-2016 %I I FOTGET T 5T T & HA b W T 3,97,000 § feram |
FUTTS TG I TAT RO O TS i §AW H 7 old §U, SUKT el o fod !
I GEIRT | ST AT Ul Hitey |
On 1-4-2013 JN Ltd. had 10,000, 9% Debentures of I 100 each outstanding.

(1) On 1-4-2014 the company purchased in the open market 2000 of its own
debentures for ¥ 101 each and cancelled the same immediately.

(i)  On 1-4-2015 the company redeemed at par debentures of I 4,00,000 by draw of a
lot.

(1)) On 28-2-2016 the remaining debentures were purchased for immediate
cancellation for ¥ 3,97,000.

Pass necessary journal entries for the above transactions in the books of the
company ignoring debenture redemption reserve and interest on debentures.

16. FuE. fames 7 T 10 U9 & 1,60,000 THAT 373 i T 6 Wi 379 & Taedny W Fiaa e
% T 3Tree mHi=a [ | i 1 U 9 2 ot -

3TEEA TR — T 4 T 3797 (3 1 Uit 3797 o S1feremmy afed)

e W — % 6 Ufq 3197 (3 3 Uiay 39T o Hitaas Aled)

T AT ST ITeHT T — 99

3,20,000 37T & o0 31ac" Wt W | 80,000 WM & o 3mazAi &t 7 H< &
AT ST T MGG HY S T | 9T TR Bl SFANAD SER U 3790 T 3T B 5
T | 3R WA AfdRe AT BT FHEN e WX 5F AT H Y i @ | 800 e
% SIPTURE S F 3TEA T T A Fél AT | 3Teie o GO U9 ST 3791 T &0
T foTal AT | 3k g S| AT " TE | Tt R 1200 379 3 ferw stee TR
off, ST ATEAT T PTAF FA B TG BT | 3qeh 3790 1 ot 2301 Y foran mar | 2ot oy
T 3R H H 1000 37T HT T § U 37T YUT WS O I o fear T | g it R e
3T T S o &07 ok T et aier Wi o |

SURIHRT AT o [T .0, e st qecrent | 3awas ST Hfaftest iy |
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YT

STST, fefes 3 T 10 U9 & 50,000 THAT 39T bt T 2 Ui 3197 & Ay W e fhar
ST SME T % WY 37 o7 | (e | g SRt AsHeEn wiaftedt /9§ T Y | e,

T WTel TH 6 9 |
S sh. fafee
T
| | S
fafer feramor T |
®) ®)
2015,
SE.100 |l amo | |
(70,000 3®T & 1. ¥ 5 Wiq 3@ WEET |fed
3TTeIEH T U %)
” 16 AT 3T STERA Qe awmo |
(3SR AMST T 319 N, il Wiaay @ o
THOT, 8000 3R % fTT & ol 3TeR AT i
AOE! qAT 9T BT FHESH e W T 0T H
Fh 39T BT 3TMee SIS UR W Thar
™ 1)
731 e amo| |
(% 4 91T 37T 1 T H <F SAeA R0
TET20 | oo TH | |
(3T T 3 31 M T )
212 [ 0) R A i12: S I NUUOO
(V| QT ST AT I S )
67/1/1 9
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KS Ltd. invited applications for issuing 1,60,000 equity shares of ¥ 10 each at a
premium of ¥ 6 per share. The amount was payable as follows :

On Application X 4 per share (including premium ¥ 1 per share)
On Allotment % 6 per share (including premium ¥ 3 per share)
One First and Final Call — Balance.

Applications for 3,20,000 shares were received. Applications for 80,000 share
were rejected and application money refunded. Shares were allotted on pro-rata basis to
the remaining applicants. Excess money received with applications was adjusted
towards sums due on allotment. Jain holding 800 shares failed to pay the allotment
money. His shares were forfeited immediately after allotment. Afterwards the final call
was made. Gupta who had applied for 1200 shares failed to pay the final call. This
shares were also forfeited. Out of the forfeited shares 1000 shares were re-issued at I 8
per share fully paid up. The re-issued shares included all the forfeited shares of Jain.

Pass necessary journal entries for the above transactions in the books of KS Ltd.
OR

10



GG Ltd. had issued 50,000 equity shares of ¥ 10 each at a premium of ¥ 2 per share
payable with application money. The incomplete journal entries related to the issue are
given below. You are required to complete these blanks.

Books of GG Ltd.
JOURNAL
L. Debit Credit
Date Particulars r Amount | Amount
®) ®)
2015,
Jan. 10 | ....... Dr. | | ........
To.ooooeeeeeeee L
(Amount received on application for 70,000
shares @ X 5 per share including premium)
716 Equity Share Application A/c Dr. | |.......
TO o
TO o
TO o
TO o
(Transfer of application money to share capital,
securities premium, money refunded for 8000
shares for rejected applications and balance
adjusted towards amount due on allotment as
shares were allotted on Pro-rata basis.
731 | e Dr. | |.......
8 0 e o
(Amount due on allotment @ X 4 per share)
Feb.20 | ............... Dr. | | ........
0 0 o
(Balance amount received on allotment)
April 01 | ... Dr. | | ........
8 0 o
(First and final call money due)
7200 | e Dr. | |.......
Calls-in-arrears A/c. Dr. 1,500
0 0 o
(Money received on first and final call)

11




Aug. 27 | .o Dr. | | ........
TOo covvviieeeee
TOo covvviieeeee
(Forfeited the shares on which call money was
not received)

Oct.3 | coieiiieennn Dr. | | ........
................ Dr.
TOo covvviieeeee
(Re-issued the forfeited shares @ 8 per share
fully paid up)

........................ Dr.
8 0
(et e )

17.

67/1/1

%, T AT 7T U HH o TERR 4 TAT 3 : 2 1 & ST H A ded & | 31-3-2015 T 3T
Tt foeror =7 w9 o

31-3-2015 & &, @ AT 7 o1 feafa faeawor

® ®
[SRELRS 84,000 | ¥% 17,000
=T G 21,000 | 38R 23,000
et i 1,10,000
F 60,000 fqarer 30,000
@ 40,000 TR AT i 10,000
T 20,000 1,20,000 | TeM=RT 35,000
2,25,000 2,25,000

SRR T ol & BT Ueh AT TEIRR ST 41 991 I8 o forar i i
(i) o, @, T A" B AT AN AT 2:2: 1 1 B
(i) 9 I T 1 Geais T 90,000 fRAT T AT T STU T ST @A W T o |
(i) e T SR 9o T 24,000 @ |
(iv) TR = % 29,000 T 4 foham S |
(v) ¥ 3,000 T UH THIR STYAT ST U F&l SO 37e: 8 raferfiad fopam S |
(vi) T HHH S % 1/6 91T % oI SFOIdeh Uil o= |
TSR T, TTEIRRT & Ustt @1 o7 Jied wH o fefd foaror dar it |

12




YAt
TG, IS TAT IS UH FH o TEIGR & qAT5 : 3 2 2 o 3 | o sied o | 31-3-2015
3T Tt faaRoT e wepre & o

31-3-2015 1 T, T3, 94T A T Fexfa faewon

. s , e
EEnig wmteat

Q) Q)
[RELR 21,000 | 9 T g 62,000
fereT SAR-Tg@ W | 10,000 | HieX o4 20,000
-1 e 40,000 | farer 19,000
et R 12,000
TR, 50,000 i 15,000

. 40,000 TR 40,000

SE 20,000 1,10,000 | erm : w@e= 3,000 37,000
RiCaS 16,000
1,81,000 1,81,000

ST T ol TS, 3 3TEhIeT URUT oY ferdl 1 U, Ue Sg, 3 1 91t OX sZorare
i =Te] T I HOR fora

(1) Y = @i 1 geais 3 51,000 fFam mar |
(2) SHHART AfdYrd 6 T 4,000 T TS T T |

(3) T FON % felT wae = 1 3 1,000 T HH HEAT o7 |

(4) o T T 8,200 T T PTAR {HAT ST 2T A T TAFRRYT I HT WIS H 6T
fea ST, R A AR SXER ATt At B 10% Wi 9 S % | f
STRAT |

(5) TS, qAT ST & HEF TAT AN ST 3 : 2 B AT AR Ut T o SO H el |
USTt GHTISH =] W WeTshs [ohaT STRAT |

JHCR G, WIEIRRI & UsT @I a7 YAiiad ®H ol fefq faeror dam iy | 8
67/1/1 13 [P.T.O.



A, B and C were partners in a firm sharing profits in the ratio of 3:2:1. On 31-3-2015

their Balance Sheet was as follows :
Balance Sheet of A, B and C as on 31-3-2015

Liabilities | “™O"n Assets Amount
®) ®)

Creditors 84,000 | Bank 17,000
General Reserve 21,000 | Debtors 23,000
Capitals : Stock 1,10,000
A 60,000 Investments 30,000

B 40,000 Furniture & Fittings 10,000

C 20,000 1,20,000 | Machinery 35,000
2,25,000 2,25,000

On the above date D was admitted as a new partner and it was decided that :

(1)  The new profit sharing ratio between A, B, C and D will be 2:2:1:1.

(i) Goodwill of the firm was valued at ¥ 90,000 and D brought his share of goodwill
premium in cash.

(iii) The market value of investments was I 24,000.

(iv) Machinery will be reduced to ¥ 29,000.

(v) A creditor of ¥ 3,000 was not likely to claim the amount and hence to be written-
off.

(vi) D will bring proportionate capital so as to give him 1/6™ share in the profits of
the firm.

Prepare Revaluation Account, Partner’s Capital Accounts and the Balance Sheet
of the reconstituted firm.
OR
X, Y and Z were partners in a firm sharing profit’s in the ratio of 5:3:2. On 31-3-2015
their Balance Sheet was as follows :

Balance Sheet of X, Y and Z as on 31" March, 2015

e Amount Amount
Liabilities @ Assets ?)
Creditors 21,000 | Land and Building 62,000
Investment Motor Vans 20,000
Fluctuation Fund 10,000 | Investments 19,000
P & L Account 40,000 | Machinery 12,000
Capitals : Stock 15,000

X 50,000 Debtors 40,000
Y 40,000 Less : Provision _ 3,000 37,000
Z 20,000 1,10,000 | Cash 16,000
1,81,000 1,81,000
67/1/1 14
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On the above date Y retired and X and Z agreed to continue the business on the

following terms :

(1
2
3)
4

(&)

Goodwill of the firm was valued at ¥ 51,000.
There was a claim of ¥ 4,000 for Workmen’s Compensation.
Provision for bad debts was to be reduced by X 1,000.

Y will be paid X 8,200 in cash and the balance will be transferred in his loan
account which will be paid in four equal yearly instalments together with interest

@ 10% p.a.

The new profit sharing ratio between X and Z will be 3:2 and their capitals will
be in their new profit sharing ratio. The capital adjustments will be done by
opening current accounts.

Prepare Revaluation Account, Partners’ Capital Accounts and the Balance

Sheet of the reconstituted firm.

15 [P.T.O.



e - g
PART - B
famew -1
Option -1
(fareitar feraeutt &t faverom)
(Analysis of Financial Statements)
18. ‘U W Ufafdar dT FOT T RN T 9T AR & 3299 ¥ T Thahl ¢ udr feafq 7 o
o fasher o foTT Sifumreor fope 12 Aot & 9HF &id € 1”9 I8 e Tl € 2 Aehg UaTe e
TIR Y T9F 39 UHR & Tareral d g3l Uhg e [hd TR i Tidrary o ST
afieha fopa S 2 1

‘An enterprise may hold securities and loans for dealing or trading purposes in which

case they are similar to inventory acquired specifically for resale.” Is the statement
correct ? Cash flows from such activities will be classified under which type of

activity while preparing Cash Flow Statement ?

19. kg UaTE ToeR0T AR X o 3299 ¥ Uhg o’ T 31 T | 1

Give the meaning of ‘Cash Equivalents’ for the purpose of preparing Cash Flow

Statement.

20. (%) ‘UH IIW H o Ffq T qRacd i UEe AT o [Jerun % oo % U
I E 1 T forvernor o TR q1 2T L9t o Soohd T |
(@) U Tl -8 TR % A TR S BT SET 2013 S g 11 & SFER
FHIA % i fgaror § 31y =1e] FAret’ q9n ‘g Ale] Wiaar % STd e
STATE | 2+2=4

(a) One of the objectives of ‘Financial Statements Analysis’ is to identify the
reasons for change in the financial position of the enterprise. State two more

objectives of this analysis.

(b) Name any two items that are shown under the head ‘Other Current Liabilities’
and any two items that are shown under the head ‘Other Current Assets’ in the

Balance Sheet of a company as per Schedule III of the Companies Act, 2013.
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21. (%) HIEE P IEH-8THAT T 7 37 & 2
(@) e fofee & faxdi foerol @ ure =7 GemT | 17 STeR0T 3TUTd St 0T HifeT

Y 9T L& ™ X 1,20,000;

12% =i 39T % 20,00,000;

DT X 40%. 2+2=4
(a) What is meant by solvency of business ?

(b)  From the following details obtained from the financial statements of Jeev Ltd.,
calculate interest coverage ratio :

Net Profit after tax T 1,20,000,

12% Long-term Debt ¥ 20,00,000,

Tax Rate 40%.

22. 31 M, 2015 S AT §U a9 % {oTT 9 2vear fafies s em-g1 foeror Fe= U ¢ -
F— 7'ﬁ'¢' 31-3-2015 31-3-2014
9. 4] ®
FHIIHA & FH 25,00,000 20,00,000
I ATH 1,00,000 5,00,000
FHHAR] ooy = et 3TTH T 60% el 3TH FH 50%
T =g FHAR Toaa™ =T & 10% | HHART oo 51 & 20%
EZ8EY 50% 40%

T Ivear fAHee 1 TRel-aTe, W TS Sl SeA1R Fich ST foaiuT ARA o ATHIOT
Gl T AT | TG U Tal 9 eI §¢ U9 % I Bl SIS dTedl Ueh TSFH o (HHT0T Tl AT
ff SIS § | WS o A0 H 98 TR Bl 1 STAN HI T2 TG A 6l AR S0 |
T T eI foeReT | et AM-gl faerr daR ity e UF fhel J1 gedt
TEEH Ot ST S SHEIT FHST i Ui AT e & | 4
Following is the statement of Profit and Loss of Sun India Ltd. for the year ended 31"
March, 2015 :

. Note 31-3-2015 31-3-2014

Particulars
No. ®) ®
Revenue from operations 25,00,000 20,00,000
Other Income 1,00,000 5,00,000
Employee benefit-expenses 60% of total Revenue | 50% of total Revenue
Other expenses 10% of employee | 20% of employee
benefit expenses benefit expenses
Tax Rate 50% 40%
67/1/1 17 [P.T.O.



The motto of Sun India Ltd. is to produce and supply green energy in the rural
areas of India. It has also taken up a project of constructing a road that will pass
through five villages, so that these villages could be connected to the nearby town.
It will use the local resources and employ local people for construction of the road.

You are required to prepare a Comparative Statement of Profit and Loss of Sun
India Ltd. from the given statement of Profit and Loss. Also identify any two values

that the company wishes to convey to the society.

23.  31-3-2015 &l %%, feitaes @1 et faaror f v @ o
%%, fafree 31-3-2015 = ferfa faawor
P— Srew | 31°3-2015 | 31-3-2014
®) ®)
I HHAT AT SFaT
(1) STeTert ffeat
(37) 3T Oeit 10,00,000 | 8,00,000
() He= ud e 1 4,00,000 | (1,00,000)
(2) 3reret AT
SreehTei RoT 2 9,00,000 | 10,00,000
(3) ] I
(37) TR 0T 3,00,000 | 1,00,000
(&) TTEHA 4 1,40,000 | 1,80,000
FA 27,40,000 | 19,80,000
1. uRamfaat
(1) 3T=et aREsaT
(37) T Tt
(i) T 20,06,000 | 14,40,000
(ii) o/ 6 40,000 60,000
(@) 379t ot 2,00,000 | 1,50,000
(2) =] aReEtt
(37) =] Fare 7 1,00,000 | 1,20,000
() R (FrergE) 2,14,000 90,000
(9) Trehg T UhS Jod 1,80,000 1,20,000
FA : 27,40,000 | 19,80,000
67/1/1 18
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A A

=ﬁ;c P— 31-3-2015 | 31-3-2014
il ®) ®)
1 pEpRecicCs)
ST (TAT-BT ToeRoT 1 91) 4,00,000 | (1,00,000)
4,00,000 | (1,00,000)
2 eI 0T
12% FoTas 9,00,000 | 10,00,000
9,00,000 | 10,00,000
3 TAEHIA 0T
CECICIEE 3,00,000 | 1,00,000
3,00,000 | 1,00,000
4 TTEHTAT T
T TS 1,40,000 | 1,80,000
1,40,000 |  1,80,000
5 T aRErfaar
TRT 24,06,000 | 16,42,000
TSHEIT HoTaTd (4,00,000) | (2,02,000)
20,06,000 | 14,40,000
6. 3T UGt
E2ii] 40,000 60,000
40,000 60,000
7. | Wik (AR
RN L 2,14,000 90,000
2,14,000 90,000
FAfeie G

() 12% 19t T 9eE 31-3-2015 St fmar T4 |
(i) a9 H T 1,40,000 FHT T I {HAT 72T |

Jehg TaTE fae]or JaR Sty |
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Following is the Balance Sheet of K.K. Ltd. as at 31-3-2015 :
K.K. Ltd. Balance Sheet as at 31-3-2015

Note | 31-3-2015 | 31-3-2014
Particulars
No. ®) ®)
I. Equity and Liabilities :
(1) Shareholders’ Funds :
(a) Share Capital 10,00,000 8,00,000
(b) Reserves and Surplus 1 4,00,000 | (1,00,000)
(2) Non-current Liabilities :
Long-term borrowings 2 9,00,000 | 10,00,000
(3) Current Liabilities :
(a) Short-term borrowings 3 3,00,000 1,00,000
(b) Short-term provisions 4 1,40,000 1,80,000
Total : 27,40,000 | 19,80,000
II. Assets :
(1) Non-current Assets :
(a) Fixed Assets :
(i) Tangible 5 20,06,000 | 14,40,000
(i1) Intangible 6 40,000 60,000
(b) Non-current Investments 2,00,000 1,50,000
(2) Current Assets :
(a) Current Investments 1,00,000 1,20,000
(b) Inventories 7 2,14,000 90,000
(c) Cash and Cash Equivalents 1,80,000 1,20,000
Total : 27,40,000 | 19,80,000

20




Notes to Accounts :

Note 31-3-2015 | 31-3-2014
Particulars
No. ®) ®)
1 Reserves and Surplus
(Surplus i.e. Balance in Statement of
1
Profit and Loss) 400,000 | (1,00,000)
4,00,000 | (1,00,000)
2. Long-term borrowings :
12% Debentures 9,00,000 | 10,00,000
9,00,000 | 10,00,000
3. Short-term borrowings :
Bank Overdraft 3,00,000 1,00,000
3,00,000 1,00,000
4. Short-term provisions :
Provision for tax 1,40,000 1,80,000
1,40,000 1,80,000
5. Tangible Assets :
Machinery 24,06,000 | 16,42,000
Accumulated Depreciations (4,00,000) | (2,02,000)
20,06,000 | 14,40,000
6. Intangible Assets :
Goodwill 40,000 60,000
40,000 60,000
7. Inventories :
Stock in trade 2,14,000 90,000
2,14,000 90,000

Additional Information :

()

12% Debentures were redeemed on 31-3-2015.

(i) Tax¥ 1,40,000 was paid during the year.
Prepare Cash Flow Statement.

67/1/1
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qug - g
PART - B
fasea - 11
Option - I1

(i erais)

(Computerized Accounting)

18. il Hiogq I T 37 § 2

What is meant by ‘Key Field” ?

19.  QHFISHIOT T T 3299 ¢ 2

What is the purpose of normalization ?

20. A o {hel T ST-ST ol THST |

Explain any four sub-groups of Profit and Loss.

21. 3NYHicTT oREihd | oGl ol TN Ale-dlg BT A@ishT T HIh THH & | Hd 2

Internal manipulation of records is much easier in computerized accounting than in

manual accounting. How ?

22. AR TR UTIeH o Tohel IR Tl o Soeid ity |

State any four advantages of Computerized Accounting System.

67/1/1 22



23. OSTT UH GWEESK & | O H 36 2 A7 1 S7eehmer forn | 39 qot oaq 17,000 ¥ |

T g & TS T SUART ek ST () ST Tt o, (W) Hee 9= () T fRr
IR AT (F) UREET S 0T A % G |

QAT .

e

A H 30 PESN Ta@ & | HEME 9 X 35%, 6 TR 9 gRETesR @I % e
T A BT 20%; T Than 9=l TR-GURETesRI W% &% 6t JeT 9= &1 15%; GoRaTesit
% % folg uRae =1 ¥ 1,000 ATGE € q9T I-guiemssii W% & aRkee 9= 3 500
I ¢ |

On the basis of the following information using Excel give the formulae to compute :

(a) Basic pay earned; (b) D.A.; (c) House Rent Allowance and (d) Transport
Allowance of Sanjay who is a supervisor. He took a leave for two days during the
month. His basic pay is ¥ 17,000.

Informations :

Number of working days in the month are 30. Rate of D.A. 35%, HRA rate for
supervisory staff is 20% of basic pay, HRA for non-supervisory staff 15% of basic
pay, Transport Allowance for supervisory staff ¥ 1,000 per month and Transport

Allowance for non-supervisory staff ¥ 500 per month.
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Q. Set No.

67/
1/1

67/
1/2

67/
1/3

Marking Scheme 2015-16
Accountancy (055)

Delhi—67/1/1

Expected Answers / Value points

Distribution
of marks

Q. What is the.....ccceeireireeiieniinncreerecneenneees firm.

Ans.
e Maximum number of partners: 50
e Companies Act, 2013

Y+

=1 Mark

Q. A, BandC.................... CandD.

Ans.

A’s share =3/6

B’s share=2/6—-1/16 = 26/96
C'sshare=1/6-1/16 =10/96 }
D’s share =1/8

Y

Thus, the New Profit sharing ratio for A, B, C and D will be
=3/6:26/96: 10/96: 1/8
= 24:13:5:6 }Fou

1 Mark

Q. Distinguish...........cccceeeeeeeeeee. economic relationship’.

Ans.

Basis Dissolution of partnership Dissolution of partnership
firm

Economic relationship Economic relationship Economic relationship
between the partners between the partners
continues though in a comes to an end.

changed form.

1 Mark

Q. State the.....ccceeeeereeennnnnnnns Redemption Reserve.

Ans. According to the provisions of the Companies Act, 2013, the companies are required to
create Debenture Redemption Reserve of at least 25% of the face value of debentures
before the redemption of debentures commences.

1 Mark

Q. On 1-1-2016......cccceuueennnn of the company.
Ans.

Kamini Ltd.
Journal

Date Particulars LF Dr (%) cr (%)

2016 Bank A/c Dr. 3,03,500
Jan1 Calls in Arrears A/c Dr. 1,500
To Equity Share first call A/c 3,00,000
To Calls in advance A/c 5,000
( Being call money received except on 500
shares and received advance on 1,000
shares)

1 Mark

Q. Nusrat and SONU........cccerrmerrrerrenireneerenenenns were fixed.
Ans.




Journal

e Dissolution of a firm involving sale of business as a going concern
e Amalgamation of partnership firms.

Date Particulars LF Dr (%) Cr (%)
2015 Nusrat’s Current A/c Dr. 300 1 Mark
Mar 31 To Interest on Drawings A/c 300
(Being Interest on drawings charged)
- 10 | Q. KTRLtd. .....ccccuuuueeens 5% per annum.
Ans.
(a)
KTR Ltd.
Journal
Date Particulars LF | Dr(X) cr(X)
2016 | Bank A/c Dr. 3,65,000
Mar 4 To 9% Debenture Application & Allotment A/c 3,65,000 v
(Being application money received)
2016 | 9% Debenture Application & Allotment A/c Dr. 3,65,000
Mar 4 | Loss on Issue of Debentures A/c Dr. 36,500
To 9 % Debentures A/c 3,65,000 1
To Premium on Redemption of Debentures A/c 36,500
(Being transfer of application money to debenture
account issued at par, but redeemable at premium
of 10%)
(b)
KTR Ltd.
Journal
Date Particulars LF | Dr(X) cr ()
2016 | Bank A/c Dr. 3,43,100
Mar4 | To 9% Debenture Application & Allotment A/c 3,43,100 Y
(Being application money received)
2016 | 9% Debenture Application & Allotment A/c Dr. 3,43,100
Mar 4 | Loss on Issue of Debentures A/c Dr. 40,150
To 9 % Debentures A/c 3,65,000
To Premium on Redemption of Debentures A/c 18,250
(Being transfer of application money to debenture
account issued at 6% discount but redeemable at
premium of 5%)
OR 1
9% Debenture Application & Allotment A/c Dr. 3,43,100
Discount on Issue of Debentures A/c Dr. 21,900
Loss on Issue of Debentures A/c Dr. 18,250
To 9 % Debentures A/c 3,65,000
To Premium on Redemption of Debentures A/c 18,250
(Being transfer of application money to debenture
account issued at 6% discount but redeemable at =
premium of 5%) 3 Marks
10 |9 Q. State any three.................. may arise.
Ans.
In addition to the stated circumstances, the need for the valuation of goodwill in 1x3
partnership may arise in the following circumstances: =
e Change in the profit sharing ratio amongst the existing partners. 3 Marks




9 - 8 Q. Sandesh Ltd......cccccceeeieerrnnnns books of Sandesh Ltd.
Ans.
Sandesh Ltd.
Journal
Date Particulars LF | Dr () cr(X)
Sundry Assets A/c Dr. 7,00,000
To Sundry liabilities A/c 2,00,000 1%
To Sanchar Ltd. A/c 4,59,500
To Capital Reserve A/c 40,500
( Being Assets & Liabilities acquired)
Sanchar Ltd. A/c Dr. 4,59,500
To Bills Payable A/c 8,500
To Equity Share Capital A/c 4,10,000 1%
To Securities Premium Reserve A/c 41,000
(Being draft accepted and equity shares issued at a
premium of 10%)
OR
OR
Sanchar Ltd. A/c Dr. 8,500
To Bills Payable A/c 8,500 %
(Being draft accepted)
Sanchar Ltd. A/c Dr. 4,51,000
To Equity Share Capital A/c 4,10,000
To Securities Premium Reserve A/c 41,000 -
(Being equity shares issued at a premium of 10%) 3 Marks
10 |8 7 Q. To provide employment.............. to propagate.
Ans.
X Ltd.
Journal
Date Particulars LF Dr (%) cr (%)
Bank A/c Dr. 3,00,00,000 %
To Equity Share Application and allotment A/c 3,00,00,000
(Being application & allotment money received
for 20,00,000 shares)
Equity Share application and allotment A/c  Dr. 3,00,00,000
To Equity Share capital A/c
To Bank A/c 75,00,000 %
1,87,50,000
To Securities Premium Reserve A/c 37,50,000
(Being share application and allotment money
adjusted)
Values ( Any Two):
1. Providing employment opportunities.
2. Development of backward areas.
3. Helping the young people to undertake developmental activities. 1X2
4. Promoting peace and harmony in the society. =
(Or Any other correct value) 3 Marks
11 |12 |11 | Q.PandQu...cccccvvnniicennnnenes year ended 31-3-2015.
Ans




Profit & Loss Appropriation A/c of P, Q and R

Dr. For the year ended 31* March 2015 Cr.
Particulars Amount (%) Particulars Amount
)
To Partners’ Capital A/c: By Profit and loss A/c 4,00,000
(transfer of profit) (net profit) @
P- 2,18,750 =
Less Deficiency- 15,000 ,03,750 4 Marks
Q- 1,31,250
Less Deficiency- 10,000 ,21,250
R- 50,000
Add from P 15,000 @
From Q 10,000 75,000
4,00,000 4,00,000
12 |11 | 12 | Q. Vikas, Vishal and Vaibhav........ccc.cccceoreerirrnncrrnnnnne Vaibhav’s Death.
Ans.
Journal of Vikas, Vishal and Vaibhav
Date Particulars LF | Dr(X) cr (%)
2015 Vikas’s Capital A/c Dr. 12,000
Dec.31 | Vishal’s Capital A/c Dr. 12,000
To Vaibhav’s Capital A/c 24,000
(Being Vaibhav share of goodwill adjusted in the
capital A/c of the existing partners in their 1
gaining ratio i.e. 1:1)
Dec. 31 | Vaibhav’s Capital A/c Dr. 10,000
To Profit & Loss A/c 10,000
(Being Vaibhav's share in debit balance of Profit
& Loss A/c transferred) 1
OR
Vikas’s Capital A/c Dr. 20,000
Vishal’s Capital A/c Dr. 20,000
Vaibhav’s Capital A/c Dr. 10,000
To Profit & Loss A/c 50,000
(Being Vaibhav's share in debit balance of Profit
& Loss A/c transferred)
Dec. 31 Profit & Loss Suspense A/c Dr. 11,250
To Vaibhav’s Capital A/c 11,250 1
(Being Vaibhav's share of profit upto the date of
death transferred to his Capital A/c)
Dec. 31 | Vaibhav’s Capital A/c Dr. 4,05,250
To Vaibhav's executors’ A/c 4,05,250 1
(Being amount due to Vaibhav transferred to his =
executors’ A/c) 4 Marks
13 | - - Q. Land M were.......cccceeerrrennnnnnens made by cheque.
Ans.




Journal of Land M

Date Particulars LF | Dr () cr ()
(a) Bank A/c Dr. 40,000
To Realisation A/c 40,000 1%
( Being payment received from creditors)
(b) No Entry 1%
(c) Realisation A/c Dr. 30,000 ,
To Bank A/c/ Cash A/c 30,000 1%
(Being partial payment made to creditors through
cheque)
(d) L’s Capital A/c Dr. 1,600
M’s Capital A/c Dr. 2,400 1%
To Realisation A/c 4,000 7
(Bel.ng loss on realisation transferred to partners 6 Marks
capital A/c)
14 | 14 Q. Ashok, Bhim and Chetan.................. the reconstituted firm.
Ans.
Dr. Revaluation A/c Cr.
Particulars Amt (%) Particulars Amt
1 )
To Building A/c \/j 6,000 | By Land A/c 1 )| 60,000
To Partners’ Capital A/c: By Creditors A/c 12,000
(transfer of profit) 2
Ashok 33,000
Bhim 22,000
Chetan 11,000 66,000
72,000 72,000
Dr. Partner’s Capital A/c Cr.
Particulars Ashok Bhim Chetan Particulars Ashok Bhim Chetan
T T T kS T T
To Ashok’s -~ | 50,000 | By Balance b/d 2,00,000 | 1,00,000 | 50,000
Capital A/c By Revaluation 33,000 | 22,000 | 11,000
To Balance c/d 3,13,000 | 1,42,000 21,000 AJc
By General 30,000 | 20,000 | 10,000 5
Reserve A/c
By Chetan’s 50,000
Capital A/c
3,13,000 | 1,42,000 | 71,000 3,13,000 | 1,42,000 | 71,000
Balance Sheet
as at 1* April 2015
Liabilities Amt () Assets Amt (%)
Creditors } @ 88,000 | Land } @ 1,60,000
Bills Payable 40,000 | Building 94,000
Capitals: Plant } @ 2,00,000 2
Ashok 3,13,000 Stock 80,000 -
Bhim 1,42,000 Debtors } @ 60,000
Chetan 21,000 4,76,000 | Bank 10,000 | | & Marks
6,04,000 6,04,000




Working notes:

Ashok’s Sacrifice/ Gain = 3/6-1/3 = 1/6 (Sacrifice)
Bhim’s Sacrifice/ Gain = 2/6-1/3 = Nil

Chetan’s Sacrifice/ Gain = 1/6 —1/3 = -1/6 ( Gain)

15

Q. On 1-4-2013...........cccuuuuneee interest on debentures.
Ans.
(i)
JN Ltd.
Journal
Date Particulars LF | Dr.Amt Cr. Amt
) X)
2014 | Own Debentures A/c Dr. 2,02,000
Aprl | ToBankA/c 2,02,000
(Being purchase of 2000 own debentures for ¥
101 each)
2014 | 9% Debenture A/c Dr. 2,00,000
Apr 1 | Loss on Redemption of Debenture A/c Dr. 2,000
To Own Debenture A/c 2,02,000
(Being redemption of debentures)
2015 | Statement of Profit and Loss Dr. 2,000
Mar To Loss on Redemption of Debenture A/c 2,000
31 (Being Loss on Redemption of Debentures
transferred to Statement of Profit and Loss)
(ii)
JN Ltd.
Journal
Date Particulars LF Dr. Amt Cr. Amt
) X)
2015 | 9% Debentures A/c Dr. 4,00,000
Apr1l To Debenture holders A/c 4,00,000
(Being payment due to debenture holders on
redemption)
2015 | Debenture holders A/c Dr. 4,00,000
Apr1l To Bank A/c 4,00,000
(Being payment due to debenture holders
discharged )
(iii)
JN Ltd.
Journal
Date Particulars LF | Dr.Amt Cr. Amt
) )
2016 | Own Debenture A/c Dr. 3,97,000
Apr1l | ToBankA/c 3,97,000
(Being purchase of own debentures)
2016 | 9% Debenture A/c Dr. 4,00,000
Apr1 | To Own Debenture A/c 3,97,000
To Profit on Redemption of Debentures A/c 3,000
(Being redemption of debentures )

2 marks

2 marks




2016
Aprl

Profit on Redemption of Debentures A/c Dr.

To Capital Reserve A/c
(Being transfer of profit on redemption of
debentures to capital reserve)

3,000

3,000

%
=2 marks

=2+2+2

=6 marks

16

17
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Q. KS Ltd

Ans.

.................................... books of KS Ltd.

KS Ltd.
Journal

Date

Particulars

LF

Dr. Amt
)

Cr. Amt
)

Bank A/c Dr.
To Equity Share Application A/c
(Being application money received on shares)

12,80,000

12,80,000

Equity Share Application A/c Dr.
To Equity Share Capital A/c
To Securities Premium Reserve A/c
To Bank A/c
To Equity Share Allotment A/c
(Being application money transferred to share
capital A/c)

12,80,000

4,80,000
1,60,000
3,20,000
3,20,000

Equity Share Allotment A/c Dr.
To Equity Share Capital A/c
To Securities Premium Reserve A/c

(Being share allotment made due)

9,60,000

4,80,000
4,80,000

Bank A/c Dr.
To Equity Share Allotment a/c
(Being allotment money received except on
800 shares)
OR
Bank A/c Dr.
Calls in Arrears A/c Dr.
To Equity Share Allotment A/c
(Being allotment money received except on
800 shares)

6,36,800

6,36,800
3,200

6,36,800

6,40,000

Equity Share Capital A/c Dr.
Securities Premium Reserve A/c Dr.
To Shares Forfeited A/c
To Equity Share Allotment A/c/ Calls in arrears A/c
(Being 800 shares of Jain forfeited after
allotment)

4,800
2,400

4,000
3,200

Equity Share First & Final call A/c Dr.
To Equity Share Capital A/c
To Securities Premium Reserve A/c

(Being first & final call due on 1,59,200 shares)

9,55,200

6,36,800
3,18,400




Bank A/c Dr. 9,50,400

To Equity share First and Final call a/c 9,50,400
(Being first & final call money received except
on 800 shares)

OR

Bank A/c Dr. 9,50,400
Calls in arrears A/c Dr. 4,800

To Equity Share First and Final call A/c 9,55,200
(Being first & final call money received except
on 800 shares)
Equity Share Capital A/c Dr. 8,000
Securities Premium Reserve A/c Dr. 1,600

To Shares Forfeited A/c 4,800
To Equity Share first and final call /Calls in 4,800

arrears A/c
(Being 800 shares of Gupta forfeited)
Bank A/c Dr. 8,000
Shares Forfeited A/c Dr. 2,000

To Equity Share Capital A/c 10,000
(Being 1000 shares reissued for T 8 per share
fully paid up)
Shares Forfeited A/c Dr. 3,200

To Capital Reserve A/c 3,200

(Being gain on reissue on forfeited shares
transferred to capital reserve account)

8 Marks




16
OR

17
OR

17
OR

Q.CG Ltd. Had........cccceuvreurrennne. blanks.

Ans.

CG Ltd.
Journal

Date

Particulars

LF

Dr. Amt
()

Cr. Amt
(X)

2015
Jan10

Bank A/c Dr.

To Equity Share Application A/c
(Amount received on application 70,000
shares @ X 5 per share including premium)

3,50,000

3,50,000

Janlé6

Equity Share Application A/c Dr.

To Equity Share Capital A/c

To Securities Premium Reserve A/c

To Bank A/c

To Equity Share Allotment A/c
(Transfer of application money to share
capital, securities premium, money refunded
for 8000 shares for rejected, applications and
balance adjusted towards amount due on
allotment as shares were allotted on pro rata
basis)

3,50,000

1,50,000
1,00,000
40,000
60,000

Jan31

Equity Share allotment A/c Dr.

To Equity Share Capital A/c
(Amount due on allotment @ X 4 per share)

2,00,000

2,00,000

Feb20

Bank A/c Dr.

To Equity share allotment a/c
(Balance amount received on allotment)

1,40,000

1,40,000

AprO1

Equity share first and final call A/c Dr.

To Equity share Capital A/c
(First and final call money due)

1,50,000

1,50,000

Apr20

Bank A/c Dr.
Calls in arrears A/c Dr.

To Equity Share first and final call A/c
(Money received on first and final call )

1,48,500
1,500

1,50,000

Aug27

Equity Share capital A/c Dr.

To Forfeited Shares A/c
To Calls in arrears A/c
(Forfeited the shares on which call money

was not received)

5,000

3,500
1,500

Oct03

Bank A/c Dr.
Forfeited Shares A/c Dr.

To Equity Share Capital A/c
(Re-issued the forfeited shares @ X 8 per
share fully paid up))

4,000
1,000

5,000

2016
Mar31

Shares Forfeited A/c Dr.

To Capital Reserve A/c
(Being gain on reissue on forfeited shares
transferred to capital reserve account)

2,500

2,500

8 Marks
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17 (16 |16 | Q.A,BandC.................. reconstituted firm.
Ans.
Revaluation A/c
Dr Cr
Particulars Amt () Particulars Amt (%)
To Investments A/c 12 6,000 | By Creditors A/c 14 3,000
To Machinery A/ 6,000 | By Partners’ Capital A
@ (transfer of loss) 2
A 4,500
B 3,000 @
C 1,500
9,000
12,000 12,000
Partner’s Capital A/c
Dr Cr
Particulars A B [ D Particulars A B [ D />
| | To Revaluation 4,500 | 3,000 | 1,500 — | By Balance b/d 60,000 | 40,000 | 20,000 —\ 72
% A/c By Bank A/c ) . . 29,400
2
To Balance c/d 81,000 | 44,000 | 22,000 | 29,400 | By General Reserve 10,500 | 7,000 | 3,500
j Alc 3
By premium for 15,000
goodwill A/c
85,500 | 47,000 | 23,500 | 29,400 85,500 | 47,000 | 23,500 | 29,400
Balance Sheet of A, B, Cand D
as at 31° March 2015
Liabilities Amt () Assets Amt (%)
Creditors A 81,000 | Bank } 1% 61,400
Partners’ Capitals: Debtors 23,000
A Investment } @ 24,000 3
B @ Machinery 29,000
C Furniture & Fittings } @ 10,000 _
D 1,76,400 | Stock 1,10,000
8 Marks
2,57,400 2,57,400
17 |16 |16 | Q. X,Yand Z......ccceerrurrrennnnen of the reconstituted firm.
OR | OR | OR | Ans.
Revaluation A/c
Dr Cr
Particulars Amt Particulars Amt
() (LR
To Claim for workmen 4,000 | By Provision for bad debts A/c \/7 1,000
compensation A/c By Partners’ Capital A/c’s:
@ (transfer of loss) 2
X 1,500
Y 900 @ 3,000
z 600
4,000 4,000
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Partner’s Capital A/c

Dr Cr
Particulars X Y Z Particulars X Y Z
) ) () () (X) ()
To 1,500 900 600 | By Balance 50,000 40,000 20,000
Revaluation b/d
A/c
By Investment 5,000 3,000 2,000
v To Y’s Capital 5,100 --- | 10,200 | Fluctuation
A/c Fund @
™ To Cash A/c --- 8,200 --- | By Profit & 20,000 12,000 8,000 3
1 Loss A/c
To Y’s Loan --= 61,200 ---
~Afc By X’s capital -—- 5,100 -
A/lc @
b To X’s Current | 15,840 I
2) | A/c By Z’s Capital - 10,200 ---
A/c
To Balance 52,560 --- | 35,040
c/d By Z's Current 15,840 | %
Alc
75,000 70,300 | 45,840 75,000 70,300 45,840
Balance Sheet of X,Y and Z
As at 31° March 2015
Liabilities Amt () Assets Amt () | |\
Partners’ Capital : Land & Building 62,000
@ {); 52,560 Motor Van 20,000
35,040 1,76,400 | Investment 19,000
» _{X's Current A/c 15,840 | Machinery 12,000 >@
Y’s Loan 61,200 | Stock 15,000
reditors 81,000 | Debtors 40,000
” {élaim for Workmen Less: Provision 2,000 38,000 3
Compensation 4,000 | Cash 7,800
Z’s Current A/c 15,840 / _
1,89,640 1,890,640 | | o M'arks
PART B
(Financial Statements Analysis)
18 |19 | 18 | Q. ‘An enterprise.......cccceceeeeeecennee. Cash flow statement.
Ans.
e Yes, the statement is correct. Y%
e Operating Activity Iz
=1 Mark
19 |18 | 19 | Q. Give the meaning.......cccceceerrrannnns Cash flow statement.
Ans. Cash Equivalents are short term highly liquid investments that are readily convertible
into known amounts of cash and which are subject to an insignificant risk of changes in =
value. 1 Mark
20 |- - Q. (a) One of the................ of this analysis.
Ans.
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(a) (a) Objectives of ‘Financial Statements Analysis’: (Any two)
(i) Assessing the earning capacity or profitability of the firm as a whole as well as its

different departments so as to judge the financial health of the firm.

(ii) Assessing the managerial efficiency by using financial ratios.

(iii) Assessing the short term and the long term solvency of the enterprise.

(iv) Assessing their own performance as well as of others through inter firm comparison.
(v) Assessing developments in future by forecasting and preparing budgets.

(vi) Ascertain the relative importance of different components of the financial position of
the firm.

(vii) Understanding complicated matter in a simplified manner.

Q. (b) Name any two items................. Companies Act 2013.
Ans. (b)
Other Current Liabilities ( Any Two)
(i) Unpaid Dividend
(i) Interest accrued and due on borrowings
(iii) Interest accrued but not due on borrowings
(iv) Income received in advance
(v) Callsin advance
(vi) Interest on calls in advance
(vii) Current maturities of long term debts
(viii)  Application money received for allotment of securities and due for refund and
interest due there on.
(ix) Unpaid matured deposits and interest accrued there on.
(x) Unpaid matured debentures and interest accrued thereon.
(xi) Other payables(outstanding expenses, provident fund payable, ESI payable, CST
payable, VAT payable etc.)

Other Current Assets (Any two)
(i) Prepaid expenses
(ii) Accrued incomes
(iii) Advance Taxes
(iv) Unamortised expenses/losses (to be written off within 12 months from the date of
balance sheet)

1x2
=2 Marks

Yax2
=1 Mark

Yx2
=1 mark

4 Marks

21

Q. (a) What is meant .................... of business?
Ans. (a)
Solvency of business refers to the ability of the business to pay its long tem liabilities.

Q. (b) From the following.................... Tax rate @ 40%.

Ans.

Interest Coverage Ratio = Net Profit before Interest and Tax
Fixed Interest Charges

Net Profit after tax = ¥ 1,20,000

Tax rate = 40% T

Net Profit before tax = ¥ 1,20,000 x 100 /60 = 2,00,000
Add: Interest

12% Long term debti.e. 12 / 100 x ¥ 20,00,000 = 2,40,000
Profit before Interest and Tax 4,40,000

Interest Coverage Ratio = % 4,40,000
T 2,40,000

=1.833 times

%

4 Marks
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22 | 22 |22 | Q. Followingis the................. to the society.
Ans.
COMPARATIVE STATEMENT OF PROFIT & LOSS
For the years ended 31* March 2014 and 2015
Particulars Note | 2013-14 2014-15 Absolute | Percentage
No. | (%) (%) Change Change
(%)
(i) Revenue from 20,00,000 | 25,00,000 | 5,00,000 25
Operations
(ii) Add: other income 5,00,000 | 1,00,000 | (4,00,000) (80) 1
(iii) Total Revenue (i)+(ii) 25,00,000 | 26,00,000 | 1,00,000 4
(iv) Less: Expenses
Employee Benefit 12,50,000 | 15,60,000 | 3,10,000 24.87
Expenses
> 1
Other Expenses 2,50,000 | 1,56,000 (94,000) (37.6)
Total Expenses 15,00,000 | 17,16,000 2,16,000 14.4
(v) Profit before Tax (iii)-(iv) 10,00,000 | 8,84,000 | (1,16,000) (11.6)
(vi) Less: Tax 4,00,000 | 4,42,000 42,000 10.5 [ 1
(vii) Profit after tax 6,00,000 | 4,42,000 | (1,58,000) (26.33)
Values (any two):
1. Promoting environment friendly ways of supplying energy
2. Development of rural areas Yo+
3. Infrastructural development in rural areas to increase accessibility
4. Promoting use of indigenous resources =
5. Providing employment opportunities 4 Marks
(or any other correct value)
23 | 23 | 23 | Q. Followingis the.........cccceererunenne prepare a Cash flow Statement.

Ans.
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Cash flow statement of KK Ltd.
For the year ended 31* March 2015 as per AS-3 (Revised)
Particulars Details () Amount (%)
A. Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items (note 1) 6,00,000
Add: Non cash and non-operating charges A
Goodwill written off 20,000
Depreciation on machinery 1,98,000
Interest on debentures 1,20,000
Operating_profit before working capital changes 9,38,000 > 1%
Less: Increase in Current Assets
Increase in stock in trade (1,24,000)
Cash from operations 8,14,000 +
Less: tax paid (1,40,000)
Net Cash generated from Operating Activities 6,74,000 /
B. Cash flows from Investing Activities : 1
Purchase of machinery (7,64,000)
Purchase of non current investments (50,000)
Net Cash used in investing activities (8,14,000) +
C. Cash flows from Financing Activities:
Issue of share capital 2,00,000
Redemption of 12% debentures (1,00,000) 2
Interest on debentures paid (1,20,000)
Bank overdraft raised 2,00,000
Net Cash flow from financing activities 1,80,000 +
. . . R
Net increase in cash & cash equivalents (A+B+C) 40,000
Add: Opening balance of cash & cash equivalents
Current Investments 1,20,000 %
Cash and Cash Equivalents 1,20,000 2,40,000 >
Closing Balance of cash & cash equivalents
Current Investments 1,00,000 -
Cash and Cash Equivalents 1,80,000 2,80,000 +
Notes:
Calculation of Net Profit before tax:
Net profit as per statement of Profit & Loss 5,00,000
Add: Provision for tax made 1,00,000
Net Profit before tax & extraordinary items 6,00,000
Provision for tax A/c
Particulars T Particulars T
To Bank A/c 1,40,000 | By Balance b/d 1,80,000 1
(Tax Paid) By Statement of P/L 1,00,000 -
To balance c/d 1,40,000 | (Balfig.) 6 Marks
2,80,000 2,80,000
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PARTC
(Computerized Accounting)

18

Q. What is meant by ‘Key field’?
Ans.
The common field used in a relationship table is known as key field.

1 mark

19

Q. What is the purpose of normalization?

Ans.

The process of removing data redundancy is known as Normalisation. There are two goals
of the normalisation process: eliminating redundant data (for example, storing the same
data in more than one table). Both of these are worthy goals as they reduce the amount of
space a database consumes and ensure that data is logically stored. There are several
benefits for using Normalization in Database.

1 Mark

20

Q. Explain any four............... Profit & Loss.
Ans.
Any four of the following:
1. Sales Account
Purchase Account
Direct Income
Indirect Income
Direct Expenses

o v kA wWwN

Indirect Expenses
(With appropriate on computerized accounting due to following explanation)

21

Q. Internal manipulation................... accounting. How?

Ans.

Internal manipulation of accounting records is much easier due to following reasons:
e Defective logical sequence at programming stage.
e Prone to hacking. (with example and explanation)

4 Marks

22

Q. State any four............... Accounting System.
Ans.
Following are the advantages of computerized accounting system (any four):
1. Timely generation of reports and information in desired format.
2. Efficient record keeping.
3. Ensures effective control over the system.
4. Economy in the processing of accounting data.
5. Conditionality of data is maintained.

23

Q. On the basis.........cccc......... per month.
Ans.
1. =E11XF11/30
Where E11 is basic pay and F11 is number of effective working days which are 28 in
this case.
2. =G11X40%
Where G11 is the basic pay earned in part 1
3. =IF(C11+”Sup”,G11X20%,IF(C11="Nsup”X15%,0))
4. =IF(C11”Sup”,1000,IF(C11="Nsup”,500,0))

1% X4

6 Marks
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